1HH

fit H % WL Az—h Ba—h Ca—Fh
1) &+ AE 1~3FEHE 8:50 9:00 ~ 93 |A 1 ~ 6 B 1 ~ 7 C 1 ~ 6
2) Br A 1~3[EE 9:35 9:45 ~ 1020 [A 1 ~ 6 B 1 ~ 7 C 1 ~ 7
3) &t HIKE 1~2RHk 10:20 10:30  ~ 1050 [A 1 ~ 3 B 1 ~ 2 C 1 ~ 2
4) B HIKE  1~2[EHE 10:50 11:00 ~ 11120 |A 1 ~ 3 B 1 ~ 4 C 1 ~ 3

B ="
5) &ZF fEAMFE 1~3[EER 11:50 1200 ~ 123 |A I ~ 6 B 1 ~ 7 C 1 ~ 7
6) BT AT 1~3[AHE 12:35 12:45  ~ 1320 A 1 ~ 6 B 1 ~ 7 C 1 ~ 1T
7) A HIEEFE 1~2BER 13:20 1330 ~ 1510 |A I ~ 3 B 1 ~ 3 C 1 ~ 3
8) FHT HEHF 1~2RHk 15:10 15:20 ~ 1725 (A 1 ~ 3 B 1 ~ 4 C 1 ~ 3
2HH

Fill H HE %53 Azr—h Bz—h
1) BLEANE HETR 5 Hik 8:35 8:45 ~ 9:00 A’ 1~2 B’ 1~2
2) BHRE HET 5 Hik 9:00 9:10 ~ 9:25 A’3~4 B’3~4
3) BN TR 5 R 9:25 9:35 ~ 9:45 A’5 B’5
4) BLHEE TR 5 R 9:45 9:55 ~  10:10 A’6 B’6
5) BLBEANHETF  UERPSE 10:10 10:20 ~  10:35 A’7~8 B’ 7~8
6) BLHAHTE HERPER 10:35 10:45  ~  11:35 A’9~10 B’9~10
) BRMEAHTF R 11:35 11:45 ~  11:50 A’ll B’11
8) FBLHMMHTFE R 11:50 12:00 ~  12:25 A’12 B’ 12
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